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QUESTION 1

You want to include all instances in any of two or morecompartments, which syntax should you use for dynamic policy
you want to create for "Prod" compartment and "SIT" compartment?

Prod OCID : "JON.Prod\\

SIT OCID : \WJON.SIT\V

A. Any { instance in compartment "Prod\\' and Compartment \V'SIT\\' }

B. Any { instance.compartment.id = \V'JON.Prod\\', instance.compartment.id = W JON.SIT\\'
C. All { instance.compartment.id = \WJON.Prod\\', instance.compartment.id = \\'JON.SIT\\
D. All { instance in compartment \\'Prod\\' and Compartment \\'SIT\\' }

Correct Answer: B

Include ANl Instances in Amy of Two or Mare Compartments

separating each complrtment entry with 2 comma
You £an type the rule directly in the test bea, o you can use the ryls Gilder

Exampile entry in the tea box

QUESTION 2

You are part of security operation of an organization with thousand of your users accessing Oracle cloud infrastructure it
was reported that an unknown user action was executedresulting in configuration error you are tasked to quickly

identify

the details of all users who were active in the last six hours also with any rest API call that were executed. Which oci
feature should you use?

A. service connector hub
B. management agent log integration
C. objectcollectionrule

D. audit analysis dashboard
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Correct Answer: D

QUESTION 3

which two responsibilities will be oracle when you move your it infrastructure to oracle cloud infrastructure?
A. Strong IAM Framework

B. PROVIDING STRONG SECURITY LIST

C. Strong Isolation

D. MAINTAINING CUSTOMER DATA

E. ACCOUNT ACCESS MANAGEMENT

Correct Answer: AC

QUESTION 4

Which resources can be used to create and manage from Vault Service ? Select TWO correct answers
A. Secret

B. IAM

C. Keys

D. Cloud Guard

Correct Answer: AC
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Vault

You can use the Vsl service 1o Create and manage the [oicwing resources

A vault includes the encryplion keys and secret credentiais that you use to protect your data and connect
1o SECUNed PESOUrCEs. A5 CUSIDME! -Managed resources. you hifve compeste control over who has Boess 1o
your vaults, kys. and secrels You also control whard suthoribed wsers dnd senaces can do with Vsult
resounces, Levels of access might range from somathing as granular as whether an individual key can be
used by a particular service 15 mone broadly impactiul Bleoycle management activities, i whether & user
can delete o key from 8 vault 1o prevent 25 use altogether

Koys are stored on haghly avallabie and durabls Rerdwane securiy modulss (HEA) that meet Faderal
Information Processing Standards [FiFS) M0-2 Security Level 3 security certification. Secrens and sadret
versions ane baseds-encoded and encrypied with master encryption loeys. but do not reside within the:
HESM.

QUESTION 5

Oracle Object Storage achieves data durability by which of the mechanisms ? Select TWO correct answers
A. Service Gateway

B. Redundant Storage across availability domains

C. Redundant Array of IndependentDisks

D. Object Versioning

Correct Answer: BD

How dursble is 8ata stored in Orsele Choud Infrastructure Object Storage? -~

Drscle Object Storage w designed 1o be highly durstile, providing 22000000000 (Elrven 74 of annusl durabdity. i achirves this by storing sach object redundantly across
m“ummmnwmmmmmun—-hmuﬁuwmmnm
labiects can be accessed o long as one of the three copees is obpects can be uploaded 23 long #3 two copies an be successfully written. Data ntegnty is
ummmmmmmmumﬂmwthnmmuﬂmmmmm
(e vention of impact.
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